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{1 A ts ml (WXN)-MATRIX AND N IS A SchLAR  PROVE
det (WA) = N det (k)
PIRECTLY fRoM THE DEfilITleN oFf THE DETEGHINANT,
i(—l){+ja;J det(A(i ) n>2
o\e:b(pg) = i

A0z — Ay Qs Ne=2

r‘Htm": USE INpUCTIeN 1LE, SHow for n=2 -Fnst)'rH’s'q SHWH
THAT "THE STATEMENT 1§ TRUE | ONE ASSUMESIT
| 1S TRUE for ((1-1)x (n~1)-MATRICES, 1

J. REDUCE THE FoLLOWiNG MNTRIX To HERMITE -forM using
ELEMENTARY Row OFPERATIONS AsSumiNg ad—bed- 0, SHoW
EACH STEP cLEARLY AND SMPLIFY YourR ANSWER,
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WHAT Do You NoTICE ABeuT THE LAST Two coLUMNS 2 USE

THIS 0BSERVATION Te CoMPUTE THE INVERSE of

I
£ 2 3
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CHECK Your. ANSWeR,



